Exam Date :
Exam Time :

Note:

All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)
Trade Name: Electrician_Year 1
Year: 1st Year

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)
3. There is no negative marking

Max Marks : 150

Sr. | Client Question

No.

2

Question Body and Alternatives

Trade Theory
What is the purpose of bedding insulation of U.G. cable?

WfRTa Sae A AT HT I SERA B?

,A] Protect the cable from mechanical injury
P B D &ffer A sr=

52 Protect the cable from moisture and gases

B Bl TH Td NG =

'A} Protect armouring from atmospheric condition
i ot argreea fRufodt § s=r
‘_A4 Protect the metallic sheath against corrosion

YTfcddh Had Dl &RUT I ST

_;]‘rade Theory

Which test is conducted to locate the faults_in UG cables?

YFANTA e & {58 THR & QY I et [T S bl 52

‘_Al Loop test

qaTE
'A2 External growler test
TATHR L

63 Break down voltage test

b 3 dleed X

Insulation resistance test

AP URRIY T

A4

Trade Theory

What does the number 1.40 represent if a stranded conductor is designated as 7/1.40?

Tfe Ueb GU AT 1 7/1.40 A S febar W 8, Y 1.40 wm g@far g2

:A] Area of cross section
SR BT BT ATHA

:A2 Radius of one conductor
T 1T b1 B3

:AS Diameter of all conductor
Tt =TT 1 e

%4 Diameter of each conductor

TS ITed BT AR
Trade Theory

Marks

2.0

2.0

2.0

Negative
Marks

0.00



What is the value of electrical conductivity of aluminium conductor?

TgHIT AES $ ATAH BT FTAE 82

'A] 61 mho/m

61 mho/m

A2 56 mho/m

56 mho/m
53 35 mho/m
35 mho/m

_A4 28 mho/m

28 mho/m

Trade Theory

What is the rating factor of cable provided with coarse excess current protection?

Faa Bt offie sifafvad URT TRem & g o7 HRE T B2

0.81

0.81

A% 0707

0.707
y _;Trade?heory

What is the size of neutral conductor compared to phase conductor in U.G cable?

YfANTd Ped § SR e T STHR BoidIad ! Ja-l &

Al Same size of phase conduetor

Tl TTereh P GHH

52 Half size of phase conductor

ol TTe 3 AT

,A} 1/4 size of phase conductor

TRV H ST B 1/4 HTHR
'A4 1/3 size of phase conductor

RO HSIR DI 1/3 SHR

Trade Theory

What is the name of the tool?

=Y ISR &1 T 82

EL1107L2

,A] Cutting plier
I @R

_AZ Wire stripper

2.0

2.0

2.0

0.00

0.00



AR femw

:A3 Crimping tool
fofiinga

:A4 Side cutting plier

TES BT @R

Which type of joint is used in over head lines for high tensile strength?

Trade Theory

e =T /g FRRIGR 18 & 1 91 Sivg SUanT o wiren 82

:Al Scarfed joint
WS Wi

:A2 Britannia ‘T’ joint
foerfar T <

_A3 Western union joint

e g og
.A4 Britannia straight joint

fereriran Re sirs

What is the unit for Quantity of clectricity?

ool &1 9E & e 3T Fn 82

_Al Mho

Mho

:A2 Coulomb
Coulomb

:A3 Volt /second
Volt /second

{\4 Ampere/second

Ampere/second

What is the name of the soldering method?

Hiesi Ry e s Tm 82

Trade Theory

Trade Theory

EL119313

{\l Dip soldering

&y s

A2 Soldering iron

T 3RA

2.0

2.0

2.0



53 Soldering gun

e T
A

4 Soldering with flame

Tl & 1Y ST

Trade Theory

What is the current rating factor for close excess current protection of cable?

FA D] U B ARG HRT GRET P o 4RI FRE T 72

Trade Theory
‘What is the name of the soldering method?

Jresi R ST TMm e

{\1 Dip soldering
fSu Hresfan

.AZ Soldering with blow-lamp

) <Y & Y s

A

& Soldering with soldering gun

ST T & 1Y Fes AT
A4 .
" Temperature controlled soldering

o PR Sieh

Trade Theory

How many electrons are there in the third shell of the copper atom?
T (Copper) P TRATY & SRR H1 7 fra gaae 81d 82
Ay

8

Trade Theory

2.0

2.0

2.0

0.00

0.00



What is the formula for Quantity of electricity (Q)?

faqyd v &1 g e

,A] Current x Time

Current x Time

A2 Voltage x Current

Voltage x Current
53 Current x Resistance

Current x Resistance

_A4 Voltage x Resistance

Voltage x Resistance

Trade Theory

What is the unit of conductance?

Tl B IPTS T 22

Al Mho
Mho
A

2 Ohm
Ohm

,A3 Ohm-m

Ohm-m

A4 Ohm/m

Ohm/m

_—Trade?heory

Which formula is used to calculate the power of a DC circuit?

St ufvay & S 1 TTUMT BRA BT T 87

{\1 Voltage X time

Voltage x time
:A2 Current x voltage
Current x voltage
:A3 Current X resistance
Current X resistance

4 .
A Voltage x resistance

Voltage x resistance
Trade Theory

What is the advantage of stranded conductor over solid conductor?

T2 §U PSR B 319 hedex Bl gl H & Braer g2

_Al Cost is less

AAFAE
A2

. More flexible
K I DEACEIG|

:A3 Less voltage drop
DA Jlees TN

A4 . . .
. More insulation resistance

SIF Ha® TRy
Trade Theory

What is the advantage of crimping?



(]
¥

TopTRiTT & o Braer 82

Al ..
. Gives neat appearance

I ORI Y 313

52 Reduce load current

YR YRTHH B

,AS Avoid loose connections

el FIoHT 1 e
_A4 Easy to replace

S § geaT

Trade Theory

Which cable laying method is used in generating station?

IdTe G493 H o TR B Sad oo™ 31 3 o1 v faban siar 82

_Al In ducts

S o

.AZ Racks in air

TAHAID
A3 Along buildings
UG & Y

_A4 Direct in ground

RIBEEIER

:Trade—ﬁleory

Which part of the underground cable is protecting the metallic sheath against corrosion?

YFANTA Poe § pI | T YT 1T el bl &ROT Y sl 82

_Al Serving
Ffdn
52 Bedding
ST
3 d
Armouring

s

'A4 Lead sheath

s =y

A

Trade Theory

Which type of wire joint is found in the junction box?
SR ST H fbg UpR & IRI & SilS U S 82
:A] Aecrial tap joint

LRSS
:A2 Plain tap joint

GEEEES IS
:A3 Rat tail joint

Yeass
?AA Married joint

s s

Trade Theory
What is the use of dipsoldering method?



ey dieef fafy o1 w22

,Al Soft soldering

74 Fesfar
A2 . . .
7 Piping and cable soldering work

Tt SR Faa s i

,AS Soldering miniature components on PCB
YiiTelt 7 BIE W 1 Qies AT

A4 . - .
" Soldering sensitive electric components

Hag-Rie faggd Tl &1 Hiesh
Trade Theory

23|23 Which is the semiconductor material?

3refarer gl B9 91 R?

_A ! Eureka

.AZ Ebonite
.A3 Manganin
ERIlIEE]

A4 .
. Germanium

ST

:Tradﬁleory

24 24 What is the reading of the micrometer?

TIZhIHICR BT UTSATh 1 32

TE

10
01234

EL111803

Al 505 mm
5.05 mm

52 5.00 mm

5.00 mm

53 4.55 mm

4.55 mm
{\4 4.05 mm

4.05 mm
Trade Theory

25 25 Which is used to measure the size of conductor?

HSae P 3MBR DI AU & fore fbgept uanT fbar Sirer g2

A ! Bevel gauge

EECRIT

_AZ Vernier caliper

IR HiwR

2.0

2.0

0.00



26

27

28

29

26

27

28

29

53 Standard wire gauge

RUSE TR I
_A4 Depth gauge

TERTE TS
Trade Theory
‘What formula is used to find Electro Motive Force (EMF)?

35T TEH o A B ¥ 6 A b1 IUTNT b Tl 82

_Al EMF = Potential difference — voltage drop

EMF = Potential difference — voltage drop
f\Z EMF = Potential difference + voltage drop

EMF = Potential difference + voltage drop
:AS EMF = Potential difference + voltage drop/2
EMF = Potential difference + voltage drop/2
:A4 EMF = Potential difference + 2 x voltage drop

EMEF = Potential difference + 2 x voltage drop
Trade Theory

Which law states that in closed electric circuit, the applied voltage is equal to the sum of the voltage drops?

FH 1 o e 7, [ o< faggd uRuy & emar man diees!, diedsl UTd & AT SRTaR §idl 82

:Al Ohm’s law
3iter &1 |

:AZ Laws of resistance
UfcRTy & Fam

:A3 Kirchhoff’s first law
Tt o1 g FraH

54 Kirchhoft’s second law:

P &1 geRT fom

Trade Theory

What is the formula for the equivalent resistance (Rt) of the three resistors Ry, Ry & Ry are connected in parallel circuit?

IiE TFUCRIY R, R, & Ry AR IRUY H IS B, T A TRRIY 1 Do

.Al Ry =R;+Ry;+Rj

Rp=Ry +R,+Ry

A2
11 1
Ry =—t—+—
T
R, Rp Ry
A3
1
RT=
Ri=Ro-Ry
A4
R

Trade Theory

What is the reading of ohmmeter across opened ‘R’ resistor?

igrfeR HT UTedi A §U R, UfaRIY TR 31 g

2.0

2.0

2.0

2.0

0.00

0.00

0.00



_Al Indicate zero reading
T Ui R Hohd

A2 . s .
7 Indicate infinite resistance

3 UTedE WR Tabd

_AS Total resistance value of the circuit

IRUY &1 Hot TieRIY A
A4 Value of sum of the resistance of R; and R3 only
R, 3R R, UfoRIe & 0T 1 A4
Trade Theory

What is the name of the resistor?

UfRYY &7 T T B2

EL2S01 11

.A ! Metal film resistor

oTq fthed IRy
.AZ Wire wound resistor.
AR §8 gU UfeRIY

Carbon — film resistor

FHTa fober Uiy

A3

_A4 Carbon composition resistor

P Al ufeRly

Trade Theory

Which material is having negative temperature co-efficient property?

T el # SBUITeTe dIaHIA TJuTics T T[0T gl 82

_Al Mica

3D

.AZ Eureka

_A3 Copper
GIC]
A4 Manganin

ERIIEE]

Trade Theory

What electrical quantities are related in Ohm’s law?

ot 3 Forrm & T g e @ 6




Al .
. Current, resistance and power

RT, UfeRIY Td wfga
A

2 Current, voltage and resistivity

YR, Freest 3R UfeRIepBar

A3 .
.~ Current, voltage and resistance

YR, JeesT 3R TRy

_A4 Voltage, resistance and current density

dieedl, TfRIY 3R YRT Gefd

Trade Theory
33 33 What is the unit of resistivity?

YRRl B o1 SHBTS 82

_Al ohm / cm

ohm /cm

A2
" ohm/ cm?

ohm / cm?
53 ohm - metre
ohm - metre

_A4 ohm / metre

ohm / metre
Trade Tieo;y

34 34 Which is the application of series circuit?

ot ufkuy o1 SuET 82

:Al Voltmeter connection
AlecHIe HaIoH

f\Z Lighting circuits in home
I H ey uikuy

:AS Shunt resistor in ammeter
3HfFER H Tie ufaRiy

54 Multiplier resistor of a voltmeter

Aleetier &1 A @R ufakty

Trade Theory
35135 What is the effect of the circuit, if ‘ab’ points are shorted?

TRUY T FT UHTT §IT, Al AB I Tguid I i o)

Jo e [

SUPPLY

Al . . .
- Circuit resistance will be zero

R feRYY 3 &Y SR

.AZ Same current will flow in all branches

it el & e YR



53 Supply voltage will exist in each branch

TS RaT B Sl dteet @M

_A4 Total circuit current is equal to each branch circuit current

T IRUY YRT T JRAT YRT & FHH g
Trade Theory

36 36 Which one defines the change in resistance in Ohm(Q) per degree centigrade (°C)?

e ufd &l §89s (°c) & ey & ufvad &1 o1 a1 ufuifia et 82

.A ! Temperature effect

ATYHT YHIG

.AZ Laws of temperature

o & e

:A3 Temperature constant
oA s

:A4 Temperature co-efficient
AIYHT 0T

Trade Theory
37 37 What is the S.I unit of specific resistance?

TRy ufeRiy 1 s1 30TS R B2

_Al Ohm/cm

Ohm/cm

.AZ Ohm/metre?

Ohm/metre?

_A3 Ohm-metre

Ohm-metre
4 .
Micro ohm/cm?

Micro ohm/cm?
Trade Theory

38 38 What is the value of resistance in an open circuit?

TP Ga "idhe § ufoR1Yy 1 {1 g2

_Al Zero

RS

'AZ Low
HH
A

3 High
3w
:A4 Infinity
3d
Workshop Calculation Science

39 39 Convert 0.456 decimal fraction into percentage?

0.456 T=Had i P ufard § safed?

A

1 45.6%
45.6%
AZ 4 56%

4.56%



40

41

42

43

40

41

42

43

A3 0.456%

0.456%
A% 0.0456%

0.0456%
Workshop Calculation Science
What is the square of 0.01?
0.01 BT TR

A o001

0.001
:Az 0.0001
0.0001
A3 0.00001

0.00001
A4 0.000001

0.000001
Workshop Calculation Science

Which metal contains iron as a major content?

9 Q g u1g & wiE 9 & S U A AR g g2

:Al Brass metal
Ui urg

:A2 Bronze metal
ot eg

:A3 Zinc
TS

:A4 Ferrous metal

KU

Workshop Calculation Science

What is termed as the quantity of matter contained in a body?

g A AR yarf & A &) 3 e W 82

:Al Density
R[]

éz Volume
SIEGE]

'A} Mass

GHHT
{\4 Specific gravity

faf¥s To@

Workshop Calculation Science

What is called mass per unit volume of a substances?

forft ueref & gora ufd 3Ts A &) T FEd 82

fM Mass

SHTA

A2 Weight

HR

2.0

2.0

2.0

2.0

0.00

0.00

0.00



53 Density
Uid
_A4 Volume

ST
Workshop Calculation Science

What is the S.I unit of heat?

SN Bl TS, TBTS T 82

_Al Calorie

Calorie

f\Z Joule
Joule

:AS Centigrade heat unit
Centigrade heat unit

,A4 British thermal unit

British thermal unit
Engineering Drawing
Identify the conventional symbol of material?

T & URURS Ui @1 dgar?

EDNG1811003

Lead
S

Steel

Al

A2

EXIG
:A3 Glass
Dig
:A4 Porcelain
9 fiedt
Engineering Drawing

Identify the conventional symbol of material?

[t & IRURSD Ueiieb o) Ugam?

v & # 7
z £ 7

EDNG 1811004

Al Concrete

Tifid BrisH

.AZ Steel



I

,A3 Wood

eS|
_A4 Glass
Ikl
Engineering Drawing

47 47 Identify the conventional symbol of material? 2.0 0.00

JH! & URURS Uclieb o1 gge?

hJ
»>
v
v
EDNG1811005

{\1 Steel

T

52 Wood

eS|
:A3 Glass
E3E]
54 Concrete

3N

4 ) Engineel'ing Drawing

48 48 What is the trimmed size of A4 sheet? 2.0 0.00

A4 Rite o1 o fopa gon STHR 321 52

Al 841 x 1189

841 x 1189

AZ 504 x'841

594 x 841

A3 210% 207

210x 297
A

4 148 x 210

148 x 210
Engineering Drawing

49 49 Which drawing dimension is correct as per IS standard? 2.0 0.00

IS AT 3 IR B T ST AW Tal 82

Al

A2



A3

A4

Engineering ﬁrawing

50 50 Identify the name of prism? 2.0 0.00

ot 7 forame 1w fireH o1 10 T B2

ECNGH #2008

{U Rectangle prism
3 fores

A2 .

.~ Square prism
IR e

53 Triangular prism
Brepiuiia s

54 Hexagonal prism

AT fieH
Employability Skills
51 51 Fill in the blank with correct future tense of verb. “We to the zoo after Breakfast 2.0 0.00

ERika ?I—Eap[ YiIs 1t & a1y Rad RIM W | “We to the zoo after Breakfast

{\1 went

went

2 .
are going



52

53

54

55

52

53

54

55

are going

_AS had gone
had gone
4 will go
will go
Employability Skills
Fill in the blank with correct word. “They good friends”

Yo & 61 g WR | “They good friends”

am
A3
. are

are

Employability Skills

Fill in the blank with present progressive tense of the verb. “The train

fopa1 & adAm yrferRiie et & Iry Rad RIH W | “The train

,A] passed
passed
is passing
is passing
_A3 had passed
had passed
4 .
was passing

was passing

Employability Skills

through the tunnel”
through the tunnel”

Fill in the blank with-proper interrogative adjective. are you going?

ﬁaéﬂﬁﬁﬁa%ﬁw%waﬂ"ﬂwml are you going?

N Who
Who

Al

2 Where
Where
.A3 Which

Which
A

4 What

What
Employability Skills
Fill in the blank with proper pronoun. “I made this cake

o = & Iferd 49 & 1Y W1 “1 made this cake »

! myself
myself
2 yourself

yourself

2.0

2.0

2.0

2.0

0.00

0.00



56

57

58

59

56

57

58

59

53 himself

himself
A% Siself
itself
Employability Skills
Fill in the blank with proper pronoun. “She made this cake ” 2.0

Yot =T § S T & MY U | “She made this cake »

Al el
itself
A2 myself

myself
é?’ herself

herself
A4 pimself

himself

Employability Skills

Fill in the blank with proper reflexive pronoun. “She has hurt 7 2.0

o =i o 3o ufdad! 9d-m & Y 43| “She has hurt ”

! myself
myself
.AZ herself
herself
:AS himself
himself
4 itself
itself
Employability Skills

Fill in the blank with suitable adjective for the given sentence “The little girl’s...... eyes revealed her mischief” 2.0

ﬁ'q T dT E2 ﬁﬂ;f 3UYdd faRIwor & 1y Rad R WY “The little girl’s...... eyes revealed her mischief”

:Al chubby
chubby
52 weak
weak
:A3 short sighted
short sighted
A4 vinkling
twinkling
Employability Skills
Fill in the blank with suitable place preposition. “My house is the third floor” 2.0

Jugad R gdaf & ary e R R | “My house is the third floor”

Al g
at

in

A3
. on

0.00

0.00



60

61

62

63

60

61

62

63

on
_A4 under
under
Employability Skills
Fill in the correct question word. “ is the speaker at the function?”
TS Y TE W | - is the speaker at the function?”

A

! What
What
:A2 When
When

A Why
Why
_A4 Who

Who
Employability Skills

Low level language is also called

9 TR @ U B ﬂﬁmﬁrﬁ%

1
source code

I i
_AZ middle ware
HOXY
3 .
machine language
ERIERNL]
4
assembly language
el HrST
Employability Skills

Pronunciation refers to .
=Rl 1 Feffd HaT §
:A ! diphthong

Hgad W

consonant

o

A3 .
punctuation

form g
4 production of sound

EIECIRSICE)
Employability Skills

Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a / as”

Teg) & FEfead e & arde are § ok T s9afRUd B3| “teacher / school / worked / she /a / as™

_Al School worked as a she teacher
School worked as a she teacher

.AZ She worked as a school teacher
She worked as a school teacher

A3

. She teacher worked as a school

She teacher worked as a school

2.0

2.0

2.0

0.00



64

65

66

67

64

65

66

67

54 Worked she as a school teacher

Worked she as a school teacher
Employability Skills

Rise and fall of pitch of voice is called

fTaTe B g T T 3R AR ?%Fﬂ?ﬂ%

Al
vowel

R
2 intonation
HTATS hT IdR-dgld
3
consonant
EieE]
pronunciation
Employability Skills

The word that expresses a sudden and strong feeling is called

! punctuation
[ERENE

2 interjection
[ERIRIEEINED

3 . .
conjunction
GRISECE S

4 apostrophe

QURITRL

€ 4 Employability Skills

When you greet higher official’s suc-h as Teacher, Instructor or Supervisor, you should use
TS 1Y 187, UR1ers a1 Teided ot 3o ifRIesTRGT o SfaTe HRd &, ol STud!

,Al Good morning

1S H T
2 Hello

il

Hey

&
Hi

R

Al

A3
A4

Employability Skills
Which is a silent letter in the word “ANSWER”?
“ANSWER” ¥Isg H & 91 I &R 87

Al g
R
A2
E

Mg

2.0

2.0

2.0

0.00

0.00

0.00



68

69

70

71

68

69

70

71

S
Ay

w

Which one is a “Do’s” of discussion etiquettes?
=t & RIFER! & ¥ S 91 “Do’s” 82
Al Loose your temper
SO ST @Y
_AZ Listen to others
TR B
A3 . .
.~ Talk about irrelevant details
U fdaRor & o H a1 B
_A4 Use impolite or rude language

S{YE TT ATRIY TN BT STIT Y

Which one is a “Don’t” of discussion etiquette?

==f ?ZQ IR &I “Don’t” %’?

_Al Be open minded

fewmT e
:A2 Use moderate tone
T R B YN B
?U Listen to others
SREIRS

A4
. Argue unnecessary

3FTIIS T8 By

Which one is a brain of computer?
P BT AR DI T 8?2

,Al Keyboard

CAEIS

CPU

didtg

A2

_A3 Monitor

AR

A% Hard disk

718 fop

‘Which one is a cardinal number?

FIETA TR B AT R?

Ay

Employability Skills

Employability Skills

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0

0.00

0.00



Vil

_A4 XI
X1
Employability Skills

Which one is a cardinal number?

FISTA TR B AT 82

Al One

T
A2 Fifin

.
A3 ighth

-

SIGEI

_A4 Second

Employability Skills

Which one is an exclamatory sentence?

B 91 fawanfesis a g2

Al What a beautiful house it is!

What a beautiful house it is!

.AZ It is a beautiful house.

It is a beautiful house.

_A3 Is it a beautiful house?

Is it a beautiful house?
,A4 Your house is beautiful.

Your house is beautiful.

Employability Skills

Which one is in active voice?

iy 3MaTs § P ITR?

_Al Ram has passed the exam.
Ram has passed the exam.
52 The ball was caught by him.

The ball was caught by him.
A3 .
-~ The book was being read by her.
The book was being read by her.

_A4 We were driven home by dad.

We were driven home by dad.
Employability Skills

‘Which one is in passive voice?

fAfspg amae A B9 A1 R?

.AI Mohan is painting a house.

Mohan is painting a house.

{\2 She was reading a book.

She was reading a book.
A3 .
. Her birthday was celebrated by us.

Her birthday was celebrated by us.



{\4 I have seen that movie.
T have scen that movie.
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Question Number

Correct Alternative position

1 Ad
2 Al
3 Ad
4 A3
5 A3
6 A2
7 A3
8 A3
9 A2
10 A3
11 A3
12 Ad
13 A3
14 Al
15 Al
16 A2
17 A2
18 A3
19 A2
20 A2
21 A3
22 A3
23 Ad
24 A3
25 A3
26 A2
27 Ad
28 Ad
29 A2
30 A2
31 Al
32 A3
33 A3
34 Ad
35 Al
36 Ad
37 A3
38 Ad
39 Al
40 A2
41 Ad
42 A3
43 A3
44 A2
45 A2




46 A4
47 A4
48 A3
49 Al
50 A2
51 A4
52 A3
53 A2
54 A2
55 Al
56 A3
57 A2
58 A4
59 A3
60 A4
61 A3
62 A4
63 A2
64 A2
65 A2
66 Al
67 A4
68 A2
69 A4
70 A2
71 Al
72 Al
73 Al
74 Al
75 A3




